**Q.2a.** If  $x^y = e^{x-y}$ , show that  $\frac{dy}{dx} =$  $\log x$  $(1+\log x)^2$ Sal 26 Jaking 1 Af. W.r. 1 d. 2 MAYE Jlogy UShix 2/1+logn) -Incl munks

b.Find the point on the curve  $y = 7x - 3x^2$  where the inclination of the tangent with x - axis is of  $45^{\circ}$ , Also find the equation of the normal to the given curve at that point.

(b) det  $P(31, Y_1)$  be a point on the curve  $Y = 7x - 3x^2$ , where the tangent is inclined at an angle of 45° with Slope of the targent at  $P = \tan 45^{\circ}$ ii  $\begin{pmatrix} dy \\ dn \end{pmatrix}_{p} = \tan 45^{\circ} \Rightarrow \begin{pmatrix} dy \\ dn \end{pmatrix}_{p} = 1$  (Max Differentiating  $y = 7\pi - 3\pi^{2}$  w.r.t. x, we get dy the x-axis. Then,  $\frac{dy}{dx} = 7 - 6x$   $\frac{dy}{dx} = 7 - 6x$   $\frac{dy}{dx} = 7 - 6x$ from (dr.) from () and (), we get  $7-6\pi_1 = 1 \Rightarrow \pi_1 = 1$ Since  $p(\pi_1, \psi_1)$  dias on the curve  $\psi = 7\pi - 3\pi^2$   $\frac{1}{2}$   $\frac{1}{2} = 7\pi_1 - 3\pi_1^2$   $\frac{1}{2}$   $\frac{1}{2} = 7\pi_1 - 3\pi_1^2$ => y1=7-3=4 [futtinga1=1] Hence, the required point on the cente is (2,4) " Eq. y normal is y-y, = seekert normal (n-211), seekert normal = - texperting = -0: y-y=-1(11-1) or nty=5 - 8Mmks

**Evaluate**  $\int \frac{1+\sin x}{\sin x(1+\cos x)} dx$ Q.3a.  $\frac{Q.3.a. \text{ Soln:}}{\text{def } I = \int \frac{1+\sin x}{\sin n(1+\cos n)} \, dx \\
\frac{1+\sin x}{\sin n = \frac{2+\tan x_{12}}{1+\tan x_{12}} \text{ and } \cos n = \frac{1-\tan^2 n_{12}}{1+\tan^2 n_{12}}, \text{ we get} \\
I = \int \frac{1+\frac{2\tan n_{12}}{1+\tan^2 n_{12}}}{\frac{2+\tan^2 n_{12}}{1+\tan^2 n_{12}}} \, dx \\
\frac{1+\tan^2 n_{12}}{1+\tan^2 n_{12}} \left(1+\frac{1-\tan^2 n_{12}}{1+\tan^2 n_{12}}\right)$  $= \int \frac{(1+tau^{2}y_{1})t}{2tau^{2}y_{1}} \frac{2tau^{2}y_{1}}{2tau^{2}y_{1}} \frac{2tau^{2}y_{1}}{2tau^{2}y_{1}} \frac{2tau^{2}y_{1}}{2tau^{2}y_{1}} \frac{1+tau^{2}y_{1}}{2tau^{2}y_{1}} dx$   $= \int \frac{(1+tau^{2}y_{1})^{2} 8 c^{2}y_{12}}{4 tau^{2}y_{12} t t - tau^{2}y_{12}} dx - 3MAK$   $P_{1} thing tau^{2}h = t and (1h_{1}) 8 c^{2} (2h_{1}) dn = dt$   $P_{1} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{1} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{1} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{1} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{1} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{2} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{1} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{2} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{2} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{2} thing tau^{2}h = t and (1h_{2}) 8 c^{2} (2h_{3}) dn = dt$   $P_{2} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{2} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{2} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{2} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau^{2}h = t and (1h_{3}) 8 c^{2} (2h_{3}) dn = dt$   $P_{3} thing tau = dt$   $P_{3} th$ 

 $\pi/2$ **b.Evaluate**  $\int \log \tan x dx$ 0 3.b. det 1= -thew,  $I = \int_{a}^{\pi/2} \log \tan \left(\frac{1}{2} - x\right) dx - 2m dx$   $\Rightarrow I = \int_{a}^{\pi/2} \log \operatorname{cotn} dx \left( \operatorname{usinf}_{a}^{*} \int_{a}^{f(x)} dx - 2m dx \right) = \int_{a}^{\pi/2} \log \operatorname{cotn} dx = \int_{a}^{a} \int_{a}^{f(x)} dx = \int_{a}^{a} \int_{a}^{f(x)} \log \operatorname{cotn} dx = \int_{a}^{a} \int_{a}^{f(x)} \int_{a}^{f(x)} dx = \int_{a}^{a} \int_{a}^{f(x)} \int_{a}^{f(x)} dx = \int_{a}^{a} \int_{a}^{f(x)} \int_{a}^$ - 2 Mak Adding (i) and (ii), we get  $2I = \int^{\pi/2} (\log \tan x + \log \cot x) dx - 4maks$   $2I = \int^{\pi/2} \log (-\tan x + \log \cot x) dx - 4maks$   $2I = \int^{\pi/2} \log (-\tan x + \log \cot x) dx - 6maks$   $2I = \int^{\pi/2} \log (-\tan x + \log \cot x) dx - 6maks$   $2I = \int^{\pi/2} \log (-\tan x + \log \cot x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int^{\pi/2} \log (-\tan x) dx - 6maks$   $I = \int$ 1 1 1 a. Prove that b **Q.4** a c = (a-b)(b-c)(c-a). $a^2 b^2$  $c^2$ 

$$b.Apply Cramer's rule to solve the following system of linear equations:
$$3x - 2y + 4z = 5
x + y + 3z = 2
-x + 2y - z = 1$$$$

$$b_{1} = \Delta_{2} = \begin{vmatrix} 3 & -2 & 4 \\ 1 & 1 & 3 \\ -1 & 2 & -1 \end{vmatrix} = -5 - (M)MK$$

$$\delta_{K} = \begin{vmatrix} 5 & -2 & 4 \\ 2 & 1 & 3 \\ 1 & 2 & -1 \end{vmatrix} = -83 \qquad [M]MK$$

$$\delta_{K} = \begin{vmatrix} 5 & -2 & 4 \\ 2 & 1 & 3 \\ 1 & 2 & -1 \end{vmatrix} = -13 \qquad [M]MK$$

$$\delta_{K} = \begin{vmatrix} 3 & -2 & 5 \\ -1 & 1 & -1 \end{vmatrix} = 12 \qquad [M]MK$$

$$\lambda_{2} = \begin{vmatrix} 3 & -2 & 5 \\ -1 & 1 & -1 \end{vmatrix} = 12 \qquad [M]MK$$

$$\lambda_{2} = \begin{vmatrix} 5 & -2 & 5 \\ -1 & 2 & 1 \end{vmatrix} = 12 \qquad [M]MK$$

$$\lambda_{2} = \frac{\delta_{K}}{\delta} = \frac{-33}{-5} = \frac{33}{-5} \qquad -1MMK$$

$$\lambda_{2} = \frac{\delta_{K}}{\delta} = \frac{-12}{-5} = \frac{12}{-5} \qquad -1MMK$$

$$\lambda_{2} = \frac{\delta_{K}}{\delta} = \frac{12}{-5} = \frac{12}{-5} \qquad -1MMK$$

$$\lambda_{2} = \frac{\delta_{K}}{\delta} = \frac{12}{-5} = \frac{13}{-5} \qquad -1MMK$$

Q.5 a. Solve  $\cos(x + y)dy = dx$  $g_{st}(a) = bh$  cos(x+y) dy = dh cos(x+y) dy = dh r = see(x+y) r = see(x+y) r = dx r = dxor dr = 17 Sec 2 or dr = 1 + See Z dx  $or \frac{dz}{1+secz} = dx$   $\int \frac{tos^2}{tos^2 + 1} dz = \int dx + C$   $\int \left[ 1 - \frac{1}{tos^2 + 1} \right] dz = x + C$   $or \int \left[ 1 - \frac{1}{2tos^2 - 1 + 1} \right] dz = x + C$   $or \int \left[ 1 - \frac{1}{2tos^2 - 1 + 1} \right] dz = x + C$   $or \int \left( 1 + \frac{1}{2} \sqrt{sec^2 - 2} \right) dz = x + C$   $or \quad z - taw \frac{z}{2} = x + C$   $or \quad x + y - taw \frac{x + y}{2} = x + C$   $or \quad y + y - taw \frac{x + y}{2} = C$  Ams

**b. Solve**  $\frac{d^2y}{dx^2} + \frac{dy}{dx} + y = \cos 2x$  $\frac{(35.(6))}{(10)} \frac{d^{2}y}{(10)^{2}} + \frac{dy}{(10)} + \frac{y}{(10)} = (0.052) \times Lef \quad D = (\frac{d}{(10)})$   $(D^{2} + D + 1)^{2}y = (0.5) \times Lef \quad D = (\frac{d}{(10)})$   $Auveilliany equation is \quad D^{2} + D + 1 = 0$   $D = -\frac{1 \pm \sqrt{-3}}{2}, \quad C \cdot f \cdot = e^{-N/2} \left[A(0.5 \frac{\sqrt{3}}{2}) + B(0.5 \frac{\sqrt{3}}{2}) + B(0.5 \frac{\sqrt{3}}{2}) + B(0.5 \frac{\sqrt{3}}{2})\right]$   $\frac{1}{\sqrt{2}} = -\frac{1}{2} \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}} \frac{1}{\sqrt{2}} = -\frac{1}{2} \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}} \frac{1}{\sqrt{2}} +$  $P.L. = \frac{1}{D^2 + D + 1} \cdot \cos 2\lambda$  $= \frac{1}{(-2)^2 + D + 1} \cdot \cos 2x = \frac{1}{D - 3} \cdot \cos 2x \quad \text{Mully}$  $= \frac{D+3}{D^2-9} \cdot \cos 2\pi = \frac{D+3}{-(-2)^2-9} \cos 2\pi - 5 MAKY$  $\begin{array}{l} = -\frac{1}{2} (D+3)(082)(2-\frac{1}{13}(-2.5in2)(+3(082)))\\ (\text{omplete solution in}\\ \forall = e^{-\frac{1}{2}}(A\cos\frac{13}{2} + B.sin\frac{\sqrt{3}}{2}) + \frac{1}{13}[2.sin2)\\ - 3(052)(Ang. - 4)(4) \end{array}$ 

Prove that,  $\cos 2A$ .  $\cos 2B + \sin^2(A - B) - \sin^2(A + B) = \cos(2A + 2B)$ **O.6a**.  $\frac{66.0.5}{24.052B} + \frac{512}{(A-B)} - \frac{512}{(A+B)}$   $= \frac{1052A.052B}{252A.052B} + \frac{512}{(A-B+A+B)} - \frac{512}{(A-B-A-B)}$   $= \frac{1052A.052B}{(1.5)} + \frac{512}{(A+B)} \cdot \frac{512}{(A-B)} = \frac{512}{(A-B-A-B)}$   $= \frac{1052A.052B}{20000} + \frac{512}{20000} + \frac{512}{20000} + \frac{512}{20000}$   $= \frac{1052A.052B}{(252B-512)} - \frac{512}{20000} + \frac{512}{20000} + \frac{512}{20000}$   $= \frac{1052A.052B}{(252B-512)} - \frac{512}{20000} + \frac{512}{20000} +$ If  $A + B + C = \pi/2$ , then prove that sin2A + b.

$$sin 2B + sin 2C = 4 cos A \cdot cos B \cdot cos C$$

$$\frac{R(6b)}{R(4b)} = \frac{Sin}{2} \frac{2A + 2Sin}{2} \frac{2A$$



b. In a G. P. the first term is 7, the last term is 448 and the sum is 889. Find the common ratio and the series.

$$\frac{d^{2} t \cdot b^{2}}{H_{M}x}, a \in T, d \in T_{n} = 448 \text{ and } S_{n} \approx 889$$

$$\frac{h_{M}x}{N}, S_{n} \approx \frac{q(M-4)}{r-4} \text{ and } d = T_{n} \approx a^{n-1} = a^{n} = lr$$

$$M^{M}, S_{n} \approx \frac{lr-a}{r-4} = 3889 \approx \frac{448r-7}{r-1} \qquad \text{MW}$$

$$= 3899r - 889 \approx 448r - 7$$

$$= 441r = 882 \qquad 6 M \text{MW}$$

$$= 722 \qquad \text{And} \qquad 800 \text{ MW}$$

$$= 7414 + 28 + 56 \qquad \text{And} \qquad 800 \text{ MW}$$

$$= 812 \qquad \text{MW}$$

$$= 812 \qquad \text{MW}$$

Q.8 a. Show that the lines x - y = 6, 4x - 3y = 20 and 6x + 5y = -8 are concurrent. Also find their point of intersection.

d. 8. a. show that the lines x-y=6, 421-3y=20 and 6x+5y=-8 are concurrent. Also find their foint of intersection. Soly: The given lines are re-written as 2-7-6=0 (1) 471-37-20=0 (1) 6x+54+8=0-AT Solving (i) and (ii), we get x-y-6=0 and 4x-3y-20=0  $\frac{\chi}{20-18} = \frac{4}{-24+10} = \frac{1}{-3+4}$ or  $\frac{\chi}{2} = \frac{\chi}{-4} = \frac{1}{1} = 1$   $\Rightarrow \chi = 2, \ \gamma = -4$ Hence fixt two lines intersect at the (2, -4)thene fixt two lines intersect at the (2, -4)the equation  $6\pi + 5\gamma + 8 = 0$ , we get,  $6\pi 2 + 5\chi - 4 + 8 = 0$  (2, -4) lines on  $6\chi + 5\gamma + 8 = 0$ , begat thence the given lines are conciment and their common point of intersection is (2,-4).

b.Find the equation of the straight lines through the point (2, -1) and making an angle of  $45^{\circ}$  with the line 6x + 5y - 1 = 0

**b** Solar. Equation of set. Line through (2,-1)  
and having slope m is 
$$y+1 = m(x-2)$$
 (1) makes an angle 45° with line  
 $6x + 5y - 1 = 0$  (1)  
 $6x + 5y - 1 = 0$  (1)  
 $6x + 5y - 1 = 0$  (1)  
 $10 = \frac{5}{5}$   
 $10 = \frac{1}{5} + \frac{5}{5} +$ 

Bigia. Som: det the equation of the circle be up in  $n^2 + y^2 + 2qn + 2fy + c = 0$  - 1 Mark As (i) preses through (3, -2)  $\therefore q + 4 + 6q - 4f + c = 0$  or 6q - 4f + c = -13 (i) - Mark Also (i) preses through (-2,0)  $\therefore 4 + 0 - 4q - 0 + c = 0$  (ii) - 3 Mark He Contrie (-q, -f) of (i) lies on 2x - y = 3 -2q + f = 3 (iv) - 4 Mark Adding (ii) and (iii), we get 10q - 4f = -9 (iv) - 4 Mark Adding (iii) and (iii) we get 10q - 4f = -9 (iv) - 4 Mark Solving (iv) and (v), we get g= z, f= 6 -6 Mink Inthing quin m, meget (=2 -6 Mink Substituting these values of g, f and c in (i) Welke 22+42+32+124+2=0 Which is the regd. eqn. of circle, Ally, b. Find the equation of the parabola with focus (3, -4) be the directrix 6x - 7y + 5 = 0

R.9.h Som: Let S(3,-4) be the focus and ZM be the directrix and P(x, y) be any point on the parabola and

## TEXTBOOKS

- I. Applied Mathematics for Polytechnics, H. K. Dass, 8th Edition, CBS Publishers & Distributors
- II. A text book of comprehensive Mathematics class XI, Parmanand Gupta, Laxmi Publications (P) Ltd., New Delhi
- III. Engineering Mathematics, HK Dass, S Chand and Company Ltd, 13th Edition, New Delhi